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3 A 3 247
(chel 0 m)
seaudeizy | Aage | OO 200 USSR waoiss
Al 10,808 3,986,920 10,922.98

O ESSS AR 2| Wik 9,908 2,332,522 6,390.47 64.5

CHE 2] 147 () 529 58,321 169.78 30.2

H= 2 147 (a1 2) 371 37,097 101.63 27.4

= "3 M I A 1,558,980 4,271.1
4., QEEHA =

g 9 o= TR
B hsw caa | gt | as | cud | gop |
(Hm) (Z ) (3/m*) (M (M) (%/m*)

Al 3,472.3 |1,018,024.5 293.1 | 3,200.3 920,148 | 287.5
71848 |2,701.7| 519,065.6 192.1 | 2,502.8 | 483,369.6 | 193.0
Aot 756.1 493,049.5 652.1 683.6 |431,304.4 | 630.9
QseE 14.5 5,909.4 407.5 13.9 5,474.0 | 393.8
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